
TP delay [ns]
0 50 100

1000

2000

3000

4000

TVC(c,b,ch)=( 0, 0, 0 ) / ndf 2χ  1.383e+04 / 25

p0        0.0±  4143 

p1        0.00± -34.17 

C = 29.26 [ps/ch]

TVC(c,b,ch)=( 0, 0, 0 )

TP delay [ns]
0 50 100

1000

2000

3000

4000

TVC(c,b,ch)=( 0, 0, 1 ) / ndf 2χ  1.374e+04 / 25

p0        0.0±  4149 

p1        0.00± -34.28 

C = 29.17 [ps/ch]

TVC(c,b,ch)=( 0, 0, 1 )

TP delay [ns]
0 50 100

1000

2000

3000

4000

TVC(c,b,ch)=( 0, 0, 2 ) / ndf 2χ  1.419e+04 / 25

p0        0.0±  4151 

p1        0.00± -34.18 

C = 29.26 [ps/ch]

TVC(c,b,ch)=( 0, 0, 2 )

TP delay [ns]
0 50 100

1000

2000

3000

4000

TVC(c,b,ch)=( 0, 0, 3 ) / ndf 2χ  1.33e+04 / 25

p0        0.0±  4150 

p1        0.00± -33.56 

C = 29.80 [ps/ch]

TVC(c,b,ch)=( 0, 0, 3 )

TP delay [ns]
0 50 100

1000

2000

3000

4000

TVC(c,b,ch)=( 0, 0, 4 ) / ndf 2χ  3.311e+04 / 25

p0        0.0±  4185 

p1        0.00± -34.26 

C = 29.18 [ps/ch]

TVC(c,b,ch)=( 0, 0, 4 )

TP delay [ns]
0 50 100

1000

2000

3000

4000

TVC(c,b,ch)=( 0, 0, 5 ) / ndf 2χ  3.939e+04 / 25

p0        0.0±  4190 

p1        0.00± -34.59 

C = 28.91 [ps/ch]

TVC(c,b,ch)=( 0, 0, 5 )

TP delay [ns]
0 50 100

1000

2000

3000

4000

TVC(c,b,ch)=( 0, 0, 6 ) / ndf 2χ  3.291e+04 / 25

p0        0.0±  4182 

p1        0.00± -33.19 

C = 30.13 [ps/ch]

TVC(c,b,ch)=( 0, 0, 6 )

TP delay [ns]
0 50 100

1000

2000

3000

4000

TVC(c,b,ch)=( 0, 0, 7 ) / ndf 2χ  3.939e+04 / 25

p0        0.0±  4208 

p1        0.00± -34.53 

C = 28.96 [ps/ch]

TVC(c,b,ch)=( 0, 0, 7 )

TP delay [ns]

0 50 100

1000

2000

3000

4000

TVC(c,b,ch)=( 0, 0, 8 ) / ndf 2χ  1.223e+04 / 25

p0        0.0±  4244 

p1        0.00± -37.07 

C = 26.98 [ps/ch]

TVC(c,b,ch)=( 0, 0, 8 )

TP delay [ns]

0 50 100

1000

2000

3000

4000

TVC(c,b,ch)=( 0, 0, 9 ) / ndf 2χ  2.206e+04 / 25

p0        0.0±  4245 

p1        0.00± -35.79 

C = 27.94 [ps/ch]

TVC(c,b,ch)=( 0, 0, 9 )

TP delay [ns]

0 50 100

1000

2000

3000

4000

TVC(c,b,ch)=( 0, 0, 10 ) / ndf 2χ  1.391e+04 / 25

p0        0.0±  4269 

p1        0.00± -36.08 

C = 27.72 [ps/ch]

TVC(c,b,ch)=( 0, 0, 10 )

TP delay [ns]

0 50 100

1000

2000

3000

4000

TVC(c,b,ch)=( 0, 0, 11 ) / ndf 2χ  1.163e+04 / 25

p0        0.0±  4275 

p1        0.0± -35.5 

C = 28.17 [ps/ch]

TVC(c,b,ch)=( 0, 0, 11 )

TP delay [ns]

0 50 100

1000

2000

3000

4000

TVC(c,b,ch)=( 0, 0, 12 ) / ndf 2χ  3.088e+04 / 25

p0        0.0±  4248 

p1        0.00± -35.94 

C = 27.82 [ps/ch]

TVC(c,b,ch)=( 0, 0, 12 )

TP delay [ns]

0 50 100

1000

2000

3000

4000

TVC(c,b,ch)=( 0, 0, 13 ) / ndf 2χ  3.294e+04 / 25

p0        0.0±  4261 

p1        0.0± -35.3 

C = 28.33 [ps/ch]

TVC(c,b,ch)=( 0, 0, 13 )

TP delay [ns]

0 50 100

1000

2000

3000

4000

TVC(c,b,ch)=( 0, 0, 14 ) / ndf 2χ  3.276e+04 / 25

p0        0.0±  4246 

p1        0.00± -34.96 

C = 28.60 [ps/ch]

TVC(c,b,ch)=( 0, 0, 14 )

TP delay [ns]

0 50 100

1000

2000

3000

4000

TVC(c,b,ch)=( 0, 0, 15 ) / ndf 


